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1. Briefly explain what are TCP/IP, Internet, WWW, Browser, HTTP, HTML,
Gl and URL. {16%)

Z. Explain why a Java applet can be compiled and put in a WWW server, then it
can be downloaded into a browser and run on any computer over the Infernet.
(%)

3. Give a logic fnction abtained by the wired AND in the foflowing diagram.
An “0C" stands for an open-collector gate. (5%}
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4, Shown below is the seven-segment display, You ar¢ requested to use an 8:1
muldipiexor to design a circuit which drives the b-bar of this seven-segment

display L;givc:_-: a BCD digit to display}. {1 4%)
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5. Code the f::ul'lx}wiug string in ASCIE using even parity by adding a patity bif at
the I order end of each chavacler code:

IMENCEU

Your angwer shall be in binay format. The ASCII cedes m decimal and
hexadeciinal ave shown in Table 1, {104}

TABLE 1: ASCIL Cudes
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24 zz | - LA WS 7 I 4p | ¥ ¥ L h-15
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57 sn lm 1 m-57 | u8 £2 | b b h—9E
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&, Buplii the foltowing terea: {18%}
{17 3% (2) Clisnr-Zerver Computing (1) Vil Memornyr
(11 DEMS {3 CIN, (6] Einked List

T.  The Tower of Hanei game (5 o ploce p ¢ivewlar ringe of varying size 1 (0 boon
threc pogs A, B, and ©. Bvery step you ane allowed 10 move oneeing fronm one
g L e eAllery and, at any ¢ime, any ring of stz § imsl aot be ploced on top of
the ather ring of size § if i=). Witally sl dogs are placed in peg A Wrile A
rECUrSIE PAggRDtn D Eny programming noguage or peedo code you prefer) to
move alf rings faro peg A ta peg S (1099}
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%, The hree properlies of objects (aigo denoted the three pillars of abject-ariented

110.

programmiing ate: Encapsulation, Inheriiance and Pobymomphigm. Please eseribe
thero. [5%)

The following prograne s wiillen U Pascal, whot are she cugpuis of the program
foy paratncteys—passing meehanismn 8z (17 call by value (2} call by refersnce, (5%

Prormm ParaPuzs (input, oulpot)
varx, e Eareges,

proceduss pr (3, B ltepes);
bepio  w=atZ, xo=a+b; bi=bbx; a=al

erd;

bizgin
=l =4
A
writeln Go, v

e,

Given PREQERBDER and BYORTEL o 2 hinary e,
PREGEDER CADELIBFG)

[NORDER DaAHERCKIG

(1) Canstowst the Biaacy troe, (9%6)

(X) Eriot the cosult of postgrder raversal. (3%)




